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Operations with Integer Review 

1) 11 3   

 

 

2) 13 ( 7)   3) 9 ( 4)    

4) 5 ( 10)   

 

 

 

5) 14 8   6) 7 5   

7) 14 ( 14)   

 

 

 

8) 7 5 7   9) 12 ( 26)    

10) 2.4 3.9   

 

 

 

 

 

 

 

11) 25.4 ( 19.7)    

12) 0.65 ( 2.75)   

 

 

 

 

 

 

 

13) 23 12 ( 10)     
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16)  )7(7   

 

 

 

17)  )7(7   

 

18)  514   

 
 
 



19)  )10)(3.1(   

 

 

 

 

 

20)  )3(111   

 

21)  )3.0(12   

 

22)  )1)(1)(1(   

 

 

 

 

 

23)  )7(214   

 

24)  )2.3)(5.14(   

 

25)  )2)(3(4   
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27)  )05.0(5.12   
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29)  In a math competition, your final score is determined by multiplying your 2 best scores together  

and dividing that score by 0.05.  Your two best scores were 3.02 and 5.2 . 

 

a)  Find your overall final score in the competition. 

 

 

 

b)  If the lowest score wins and the person you were up against scored 150  did you win or lose?  By  

how much? 
 


